Our product will be delivered to you in 2 packages. The delivery times of these 2
packages may differ, please be patient and thank you for your understanding.
Unser Produkt wird Ihnen in 2 Paketen geliefert. Die Lieferzeiten dieser 2 Pakete
kdnnen abweichen, bitte haben Sie etwas Geduld und vielen Dank flr lhr
Verstandnis.

Notre produit vous sera livré en 2 colis. Les délais de livraison de ces 2 colis
peuvent différer, soyez patient et merci de votre compréhension.

Notre produit vous sera livré en 2 colis. Les délais de livraison de ces 2 colis
peuvent varier, soyez patient et merci de votre compréhension.

Our product will be delivered to you in 2 packages. The delivery times of these 2
packages may differ, please be patient and thank you for your understanding.
Our product will be delivered to you in 2 packages. The delivery times of these 2
packages may vary, please be patient and thank you for your understanding.

N620P170672W
N620P173065W







N620P173065W

@ 800 x 410 x 37 mm

Y

1 S

@ 0 x 393 x 15 mm

800 x 410 x 37 mm

1

@ 534 x 360 x 12 mm

2




N620P170672W

/

@ ' 1200 x 450 x 25 mm

180 x 135 x 18 mm

1

/

@ ' 1160 x 415 x 15 mm

180 x 135 x 18 mm

1

535 x 60 x 15 mm

2

539 x 160 x 15 mm

1

1200 x 280 x 25 mm

1

539 x 160 x 15 mm

1

/
%
C o

250 x 150 x 15 mm

1

300 x 115 x 12 mm

2

@

v

250 x 150 x 15 mm

1

300 x 115 x 12 mm

2

>

292 x 148 x 15 mm

1

486 x 115 x 12 mm

2




594 x 295 x 3 mm

2

287 x 50 x 12 mm

2




®

Cam Bolt x 24

e

4*35mm Screw x 20

3*12mm Screw x 24

Hold hands x 6

U

o

100*100*22mm x 2 Tergite x 2 Caster x 3
4*14mm Screw x 28 hinge x 7 Pivot x 8 hinge x 4

© ¥

3.5*12mm Screw x 66

Screwdriver x 1 4*8mm Screw x 4

© o,

Suction sheet x 4

6*14mm Screw x 20

Runner 300mm x 2

°

Runner 300mm x 2

@

@)
?\s»\'\)? @%mo@/
& Rl
3 ﬂ i E i (A —
""-:-‘-'-_l;] = fr.-" ;}-. /} a -__;'J.& P

el y sorce ca B3l nka the
thireral sk i

Athmaen S e MocenEven
Wlsceaz Ceikzameend [k Do nnoda
=ms rane m o nne Hren

sopa il I nen Gewldaankar

Lighdy gl one ond o 1he wioed dowe

ani inp hattway imo hoie

Fomzen b wn Leds dee | dmdussie ek
Annd Kaasn Sis hadh acdwealoch
Loz Iagbrerncnt Jne cxrdmbs ol gooker
A ole o bywodsz & micesmon C2ne b g

Ligotle g ool i 2od g i 0wyl
warond purs 25 naer e 2ok e
fezd2n

Rociazn S do s Aulad Bel IKEDE g b

e g camig s

i 1L Jem b d 2 dediCie
Erbravken e cxo Daminss
et i Ao oo e pedhe Beed
bon.

Ukear emEmEnt e

DU TR TATREN A Pl P | ETRLLY TN FEE B |
Iradape 5o Cagka: n Lichier meclen

Cid e g el e suap e 2l
relz ke o b dzisdonee poagus of
I=sarErt —ac - Es Des dans =R ommy |

T UL AT R T '-I.I‘ M.

J N
o
4P i

| — L

Dear cusiomes, whsn you use fhe comnesior cam Billing o irakall Tis prosuc
iR Regil Fw Ml vifchlly i T B 1S pelnidly

¥ 0L Nl BN e onl, please et i i 8 RA wiTh B ey Spead

anel e BoTee i N wercaly Dioéng Thie can make your insiafaton smooth

fhanil you e yOUr CooperEEon

Sargeeh - B ta amns U e e ek Tesmehra We D s s o om
risrr bl bl s s leren rrdren Cae Sl s Loesh e sie e et en
L g largggar- am FECn dmard Lntmaechiter sersm- il i SR A e b Es
[P T RS TR JTERTY Rl TROST W PEE PN PR FRT T | EEFCRE A T B IR R Rt Sy E ] TR T L |
i Bt diceo s b he e ok clbonga o sab ket o Gunk 2 I
[F

- DT S N TRTECRN PENTY OIS e Tl G [ ) () T S WO e i et
presuil ezl e a g1er B ey sopinaleen e bR el 3 ke
INE EArarn AT s, i el ir ergtnace f s leeen e, pe s reneLa
CHIFHK YL TH = s maeerd sdee il el Bk e ab= o ieEizn




Step1
Schritt1

Cam Boltx 2

Runner 300mm x 1

Step?2
Schritt2

® ©& 6
S

Cam Boltx 2

3*12mm Screw x 6

{%‘,
Runner 300mm x 1

6

1
Ooﬁj




Sten3
Schritt3

W
H
s

6*50mm Screw x 2

Sted
Schrittd

e

Cam Bolt x 4

@@

2%

Magnetic impact x 2




Step5

Sch ritt
%\‘\

Cam lock x 4

Step6
Schritté

@M ©%

4*35mm Screw x 4 6*30mm Dowel x 2




Step7/
Schritt?

Cam lock x 4

© z

6*30mm Dowel x 4

Step8
Schritt8

Cam Boltx 6




6*30mm Dowel x 6

10

Schritt10
P

Q)
¥

Step9
Schritt9
Cam lock
Step10




Step11
Schritt11

© =z 5

6*30mm Dowel x 6 %]v

4*35mm Screw x 6

Step12
i €
Schritt12 ®% g ‘®
YN
6*14mm Screw x 20

Caster x 3

11




Step13
Schritt13

3.5*12mm Screw x 9

hinge x 3

Step14
Schritt14

©

3.5*12mm Screw x 9

12




Step15
Schritt15

3.5*12mm Screw x 12

hinge x 4

Step16
Schritt16

©

3.5%12mm Screw x 12

13




Step17/
Schritt17

14




Step18
Schritt18

e . @ z "
M e T [» ™

‘ >
§% ~
~ / .
™ ™ \

i =~

4*14mm Screw x 8

Step19
Schritt19

4*18mm Screw x 4 Suction sheet x 2




Step20
Schritt20

4*14mm Screw x 12

Step21
Schritt21

Hold hands x 2 = SR

26mmx4

3.5*12mm Screw x 8

4*18mm Screw x 4

16




Step22

Schritt22

3.5*12mm Screw x 16

Step23

@ww )

’
’
’
/
’
o

Schritt23

m
l/

™

4*14mm Screw x 8

17




Step24

Schritt24

Pivot x 8

Step25

Schritt25

v

©

4*35mm Screw x 10

18




Step26

Schritt26

Step27




Cam lock x 2

Hold hands x 2 R

Runner 300mm x 2

4*8mm Screw x 4

Runner 300mm x 2

Step28
Schritt28

Schritt29

Cam lock x 8

Step29

3*12mm Screw x 12

20




Step30

Schritt30

Step31

Schritt31




